2

1.(2) P—2r—2 72 ,v 2, 1 100.4)AHOP—3>CKSU
32 ,5_ 3 ,g_# 45 45,117 | +2 1“]“[
3 e GR o 08 2 |o +3
C F > 1 > L > L] Foy
2.(4) N oM—8 g2, 8 _V-| +5
P -5 VK +9 s T -13 »G +17 R X a_l:ﬁ_ m’
3.(3) 13- 10 BJMF—> DM K
3% WA W YA 3 @R l +2 T
103 — 100 +2
1003 — 1000 :5
10003 .......
4.(1)55+66=5+6=11 2 9
11x3=33 11.(1)C—2 35 9 N_+6 .7
22+99=2+9=11 . POV - SR
11x3= 33 M—2 50 *8 4o+ .y
W R, g2 gp 3 . #2 gy
44 +88=4+8=12 _ ]
12x3=36 12. @) X—L>Q—85Kk S35 —43[F
5. (4) ETHa W Yaen #1 o IW SHM (1) WA B 13. wg;%t%ﬂ
THE W Wl ¥ IA: IW G (2) WA 384+9=47
oft et fag TR ¢ A fard v aen wm geg T i
B 3| IW A (3) WA R -
6. (4) 3 ¥ faed (1) M g ¥ I @ 2 F fywda 14. 2) D
HaE W 5 g
X & fahed (2) F A W T @ 1 F favds
@ 2 fala waE W 5 @m 6 ™

7. (2) R 7% Gifea F ¢ 6 g Pramaer g =
W t W ) 9% 99 ) e s # 3@ R,
weEy aR-faar o ag gfifvea s € 5 ot |

e 1 aEe fire
8.B3H C M——>
@ -2 ‘F T A a7 AD = /(DE)® + (AE)
2
;) = J82+©? = J6a+36
I TR, = Jioo = 10w
S G D—> E B 18.(1) ‘-lgmtﬂ. 7‘;}_
I -2 T
—g ) 20 =t
- 25 . 25 T,
9.2)F I LM——> A D G H ™ L
| 5 4 T A[ |
_5 }
_5 .
-5

Y

TE W 3 M) 2K T P (3) F HEE o i <

S s 50 = (10 + 7) AR
MILK—5-)HDGF =17 "X
:5 ?T 16. (3) XY T v ¥ %9 W& 'E’ ¥ Wy WK SECURE
-5 % E?
-5




17. @) < 15 ff. v fag

10 fesft. 10 feit.

6 Fell.
s 30 = (15 + 6) ek
=21 i,

18.(1)5+3x8-12+4=3
=5+3x8+12-4=3

=5+2-4=3
19. 49 WATER—>»YCVGT
+2
+2
+2
+2
+2
e,

20, (3) %57 1 ¥ T Sy WEIEE (-NFQ) FUT T
FUT I A ¥ G GFEES (A-VER) FUA T

%% T gEnd ¥

Tt deat e €
I+A= [¥$R &1 Freeg
“HT T I F"

7% fremd 11 2

it Herd s ¥

qelt e T
A+ A= A-TER & T

‘gt demd v= 1"
7% freed 1 1 =gohw B

21.(4) WA, B, D WE, 31w C % a1 gagl W &1 s
C % favla 58 W =i 3= 3R €M 3R B, C
TH E 3§ D 3191 el | €1 o@: D % fawda
HaE W A €Ml

22. (4) WAFR # TV EE I AR (4) F

23. (4) 175 =afF@ o smand s §1

24. (1) 105 =afF W& @@ it wd wrR #)

&

25. (2)

51. (D) ATOQ,
84 <125
- - a,
SP 100 105%
Then, Profit = 105% -100% = 5%
52. (C) ATQ,
;i 600x175 .
Required C.P = — -~ "~ = 42
53. (D) ATOQ,
A
L =
13 13
800
13%100
L L
13 13
1 ; 1
Hence, Required ratio = 1:1
54. (B) ATOQ,
A B oE g
2 v B o
B w2
= 10 : 15 : 6
Hence, Required ratio =10:15: 6
55. (A) ATQ,
A—>18 5
P
B—=>15 6
90-5x6
Hence, Required Time = %
= 10 days
56. (A) ATQ,

57. (D)

58. (D)

59. (B)

60. (B)

61. (B)

A =20 3
>60<
B->15 4

. . 30 .
Required time = @-3) - 30 minutes
ATQ,

- od ti 3600 18 o
g
equired time 52 5 = 240 sec
= 4 minutes
ATQ,
47.5
Required time = (28 + 10) x60 = 75 min
ATQ,
30000
7%/ \T%

2100 2100

117

T%
Hence, Required amount = 330000, 7%
ATQ,
x= 500y + 45
Then, x/125 = 500y/125 + 45/125
x=125 x 4y + 45
Hence, Required remainder = 45

ATQ,

(forn =)



62. (D} ATOQ, i = b?>+5b-150=0
a?+ b’ =1 -——(i) ! = (b+15)(b-10)=0
ab=d ! = b=-150rb=10
ST_) i 2ab =6 -—-- i?" i ) ; | but breadth cannot be negative
ubtract equation (ii) from equation) (i) ! 6, Reuived perimeter=2 1+ b = B0en
= a’+b?’-2ab=10-6=+4 |
(b—a)? = (+2) 1 70.(D) ATQ,
= ' Required Area= (3 +4 + 35) x 8
= b-a=+2o0rb-a=-2 ! = 96 em?
Hence, (b -a) = +2 1 71.(A)  ATQ,
63.(B) ATQ, i 180° = x + x + 66°
4 ! = 2x=(180°-66°=114°
x+ ; =8 : = x=57°
- i ! Hence, Required angles = 57° and 123°
24 —=82_92x —x 1 72.(B) ATQ,
= x2+ 2 8 -2 - x i 5 ; g |
16 | W10 A XTYT e T :
= x2+?=64—8=56 i = (x+yP- (x-yP=4xy
64. (B) ATQ, | 13Y 9
x = sec 300° | (%)_(x—y?-:z}x_
= sec (360° —300°) = sec 60° =2 ! : 10
65. (D) ATQ, ! (187 36
11z . = =¥ -l30) " 10
X=cos _? =cos 330 2
: 169 + 3760 77
[cost-0) =cos 0] = -¥=Te00 (E]
- cos (360° - 30°) = cos 30° = % Forer Bion B ot B
66. (B) ATQ, _32 4 _ s 9
Yot X 20" 52MY 30" 8
X2~ X% e Hence, Required Friction = i, ﬁ
o JSED 8 73.(A) ATOQ, s 8
x-7 10 36
= 30=-3x+21 = x=-3 Required Percentage = ——— x100
67.(B) ATO, ggo
(11— K2+ (-5-0) = 132 -
= (11-KP=13"-5=(12) 74.(C) ATOQ,
= 11-K=-120r 11 -K=+12 Required Ratio = 72 : 54
= K=-lorK=23 =4 :3
Hence, K = -1, 23 75.(C) ATQ,
68. (B) Required average
69.(B) ATQ, (36 +72+108) 1
I=b+35 = TXIOOXE=20
then, b=b (b + 5) =150
— Answer key
1. (b) 2. (d) 3. () 4. (a) 5. (d) 6. (d) 7. (b) 8. (c) 9. (b) 10. (d)
11. (a) 12. (d) 13. (d) 14. (b) 15. (a) 16. (c) 17. (d) 18. (a) 19. (d) 20. (c)
21. (d) 22. (d) 23. (d) 24. (a) 25. (b) 26. (b) 27. (b) 28. (c) 29. (c) 30. (a)
31. (d) 32. (a) 33. (d) 34. (a) 35. (¢) 36. (a) 37. (b) 38. (a) 39. (b) 40. (b)
41. (a) 42. (a) 43. (a) 44. (d) 45. (c) 46. (a) 47. (a) 48. (b) 49. (d) 50. (b)
51. (d) 52. (c) 53. (d) 54. (b) 55. (a) 56. (a) 57. (d) 58. (d) 59. (b) 60. (b)
61. (b) 62. (d) 63. (b) 64. (b) 65. (d) 66. (b) 67. (b) 68. (b) 69. (b) 70. (d)
71. (a) 72. (b) 73. (a) 74. (c) 75. (c) 76. (c) 77. (a) 78. (d) 79. (b) 80. (a)
81. (d) 82. (d) 83. (¢) 84. (d) 85. (d) 86. (a) 87. (d) 88. (¢) 89. (b) 90. (c)
91. (¢) 92. (¢) 93. (¢) 94. (b) 95. (¢) 96. (¢) 97. (b) 98. (¢) 99. (¢c) 100. (b)



